FFALTTIZ BRI 101 SAEFESS 2 B TSR = F R — A A

AR AT G5 AR | 2 e
— ~ BHERE 2 100 #E FE S 4o

61.( ) [BINEEIUEIE ABCD » 35 AB=6> AD=4 » CD=6 /BAD=120° » H|BC = (A) 62

(B) 12v2 (C) 5 (D) 10 -

62.( ) i&a ~ bEHH » BRI X +6x7 +ax+b=0 =FRAHEE > HITHATZIERE? (A)
2a=-3b (B) 3a=-26 (C) 2a=3b (D) 3a=2b

63.( ) B&09™ £ 96 (78 - S 9 AR MATEL ? (A) 27 (B) 28 (C) 29 (D) 30 -

64.( ) &' - FRMHAGERPRIFENE 27 +27 =52 BiRx =2 (A)0(B) 1 (C)
2 (D) 3

o

65.( ) Hlogyx-+log y=2 + Hl 4 ZR/MERFT? () 0 (B) 3 (©) 2 (D) 1+

66.( ) Aak EHEATESYL  TEAR (4k+3)x+(k-2)y—6k—10=0 {iETEE; » HIFEELS 4442
(A) (2:_1) (B) (1:_1) (C) (_'2=2) (D) (23“2) °

&

X+y
X—)

-1

£ (A) 6 (B) 8 (C) 10 (D) 12-

S —
<, PTEIEKIETIR

=

67.( ) FRAEAIETHE L - ?%E{

68.( ) EFRL ‘x—y+4=0 =L‘.2_I2x+3y+12=0=L3!8x+3y—27=0 B2l A\ ABC » 35 P(3,a)
|

HEA ABC AES » HlaRYEEEE (A) a>—-6 (B) a<6 (C) a<l (D) —-6<a<l o
- 69.( ) AR HE L - BORE2,-3) HiEiEEs (-1L5) B AEREM 2 (A)

x24+y*—ax+6y—-60=0 (B) x*+p*+4x-6y+8=0 (C) x*+y’—dx+6y-50=0 (D)

x*+y’ +4x—6y—-8=0 °

' a® +1 b c
70..( )%a+§=b+%=c+l=z CHFFEIR| @ B2+l ¢ |MUEES (A) 0 (B) abe (C)
C
' a b  c*+1

4abc (D) 8abc -

11, (

141

13:(

74 . (

78

76.(

Tl

181

194

80. (

i

) fEETL 2 2-x 4 |=0RBE|={{FEa ~ >~y Bla+B+y ZEHE (A)]

(B) % (C) 0 (D) -1

) SSRAEETARH0.55 + 0.0505 + 0.005005 +------ FIFIES (A) % (B) % (€) 0.999 (D)
B

) S, =Ya *HS =n*+5n2Bla, = (A) 2n-1 (B) 2n-2 (C) 2n+2 (D) 2n+4 o

n i
=l -

=315 e | 2 _3_ i sesans s HS = 2 i z i o
) BRI+ 24 ot T BRI (A) 5 (B) & (Q) 1 (D)

) EHIPTTIEE ABCD (2 AR A(-3,2) » B(5,-4) » C(7,4) » HIDESAAIEERS (A)

(-5,10) (B) (~L10) (C) (10,-1) (D) «(-10,-5) -

REES 3 FMR v = (a,b) S8 4B [6) 5

T

il

) EVETAQL,-1) B B(-2,3) B2 H_EAIRRES » 3%

A Bll2a+b=2 (A) -3 (B) —2 () g- (D) 3 ¢

3 e s g 7
) FEAREER Ay SRR & FEETEE n R AR —IRZBESRATA 0.999 0 Bl nfR/)N

{6l (A) 29 (B) 30 (C) 31 (D) 32

) 25 O E[EEL » 4~ B EEEISER 5 fi@:fﬁﬁ)”:ﬂ%%ﬂﬂﬂ%ﬂaing) ~

4{cos§fr+fsin—§~fr) , NOAB HITEREE (A) 8 (B) 6 (C) 4 (D) 2

) ER— E AR 12 B A DU L REEk 2 B B8 R HEER (A)
230 (B) 231 (C) 233 (D) 235 f&

) lim 2% = (A) 1 (B) 2 (O) 5 (D) e -




